[image: image1.jpg]I

U] 's334n0say Buiuiest @

Byttt ittt nnannne

f

Assessment

1. A pencil floats in liquid A but sinks in liquid B. What can you infer about

the substances?
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@ The pencil is more dense than liquid A.
Liquid A is less dense than liquid B.

© The pencil is less dense than liquid B.
@ Liquid A is more dense than the pencil.

. You put a plant in a closet for a week. Predict what will happen to it.

What skill would you use to find out which container has more liquid in it?

S
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@ classify
estimate and measure
© predict
(@ make and use a model
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Assessment

4. Which property was used to classify the coins?

@ the sizes of the coins

the shapes of the coins

© the colors of the coins

@ the thicknesses of the coins

5. Oscar’s hypothesis was “If the Sun heats Earth, then the hottest month
should have the most hours of daylight.”

Month Number of hours of daylight Average high temperature
May 14.6 70°F
June 15.2 80° F
July 14.9 84°F
August 13.8 82°F
September 12.5 75°F
October 1.0 63° F

Was Oscar’s hypothesis correct? Why or why not?

6. Anita dropped a ball of clay into water and observed that it sank. She

removed the clay and molded it into the form of a boat. When she placed it
in water it floated. Anita can infer that a boat floats because of its

@ texture

shape
© weight
©

matter
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Assessment

Linda rolled a marble from the top of the ramp. It rolled 27 ¢cm from the
bottom of the ramp. Then Linda rolled a marble from the middle of the
ramp. It rolled 12 cm from the bottom of the ramp. Predict how far the

marble will roll if she rolls it from near the bottom of the ramp.

@ more than 27 cm
27 cm

© 12cm

©® less than 12 cm

A solar eclipse occurs when the moon passes between the Sun and
Earth, casting the Moon’s shadow on Earth. Draw a labeled diagram to
communicate how a solar eclipse happen:s.

. Observe the drawings of the tree leaves. Which tree has leaves that are

simple and oval shaped with smooth edges?

slippery elm weeping willow horse chestnut  umbrella magnolia

@ slippery elm

weeping willow

© horse chestnut

® umbrella magnolia 129
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16.Observe the diagram of the rock layers. The layers have remained
undisturbed since they formed.

Which statement is correct about the fossils in the rock layers?
@ Fossil A is the oldest fossil.

Fossil B is the youngest fossil.

© Fossil B is older than Fossil A.

(@ Fossil Cis younger than Fossil B.

17. Nate made a model to represent how particles settle
out in moving water. He added pebbles, sand, and clay
to a bottle of water and shook it. Once the particles
settled, he observed the layers. What did the model
tell him about how particles settle?

@ The largest particles settle out first.

Smaller particles settle out before larger particles.
@© Pebbles settle out after sand particles.

@ Sand particles settle out after clay particles.

18.Two scientists investigated whether moving faster keeps you drier in the
rain. The scientists were both the same height and weight. Both scientists
wore the same clothing. Both traveled 100 meters on foot on the same path
during a rainstorm. One scientist walked and the other ran. They measured
the mass of their clothes before and after the test to find out how wet
their clothes got. What is the variable that changed?
@ the size of the scientists
the clothing they wore
© the distance they traveled
@ the speed at which they traveled
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Assessment

13. Paul compared the rock with the cube to estimate the rock’s volume.
Which is the best estimate?

B

1 cubic centimeter \\\

1 cubic centimeter
5 cubic centimeters
12 cubic centimeters
20 cubic centimeters

hat could Paul do to check his estimate of the rock’s volume?

Put the rock into water in a graduated cylinder and measure how much
the water rises.

Measure the length, width, and height of the rock and muitiply the
numbers.

Put the rock on one side of a balance and the cube on the other side.
Count how many cubes it takes to cover the rock completely.

- 14.
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15. You want to communicate how Earth and Jupiter are alike and different.
Which characteristic would you write in the BOTH part of the Venn diagram?
EARTH BOTH JUPITER

distance from the Sun
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Assessment

10.Margo observed a calculator and made a chart. Use Margo’s chart to write
an operational definition of a calculator.

MARGO’S CHART

Question Answer

What does it look like? The calculator is flat and black. It feels smooth. It
has white buttons. The buttons have numbers and
symbols on them.

What is it made of? It is made of black and white plastic.

What is it used for? A calculator gives you the answer to math
problems. By pressing the buttons, you can use a
calculator to add, subtract, multiply, and divide
numbers.

11. Which object would be best to use as a model
of the long, narrow beak of a hummingbird that
sips nectar from a flower?

@ straw
tweezers
© pendil
© spoon

12.Martin began listing examples of chemical and physical changes.

A B

burn paper tear paper
place limestone in vinegar break rock with a hammer

Which of the following changes should he classify in column A?
@ mix oil and water

mix baking soda and vinegar

© mix oil and vinegar
©

mix baking soda and water
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